TR LW 1125 B4 BR A 7]
2020 RIS PR A SRR &)

B R T H 0 B=T DU FRIR ST BU MR PR & 2 Ut
ISR % R 4 B

—~ BURIXT AL B R

(=) FFEATRFABEIN R4 3 R

5 | ga | mE | memkop | TNTRORN) SSKORKRS | g
) B A
1| RN | =R Ag 34.9979 11.6786 33.37% 0.0159%
2 | MRE HE 34.9979 11.6786 33.37% 0.0159%
30| TR HE 17.9477 5.9891 33.37% 0.0082%
4 B HE 17.9476 5.9890 33.37% 0.0082%
5 | EERE | RLSsH 12.5634 4.1924 33.37% 0.0057%
6 Mtk Bl B 12.5634 4.1924 33.37% 0.0057%
7| BEMA | EHES 12.5634 4.1924 33.37% 0.0057%
8 | EMESL | WSS 5.3843 1.7967 33.37% 0.0025%
9 b5 T 158.8368 50.7870 31.97% 0.0693%
(it 28 MO
£t (36 A) 307.8024 100.4962 - 0.1372%




(2D RFEMRERIRE KSR X 542 B RS

S ) TR PEERBER | B=RERRER | EERERRE
FS | ®4 BR% =5 M (A RERESRE | 25 ORI | B2 5AF 88
- ChR) &Nzl B AL B
1 REN | EHE.ALH 34.9979 11.6786 33.37% 0.0159%
2 R U A 34.9979 11.6786 33.37% 0.0159%
3 Tk AN HH 17.9477 5.9891 33.37% 0.0082%
4 T HE HH 17.9476 5.9890 33.37% 0.0082%
5 EEu B 1 12.5634 4.1924 33.37% 0.0057%
6 Mt Bl a2 1 12.5634 4.1924 33.37% 0.0057%
7 REMN | EFESW 12.5634 4.1924 33.37% 0.0057%
8 FHESL | S 5.3843 1.7967 33.37% 0.0025%
HAtAZ ool 5B T
9 il 27 155.2473 49.8288 32.10% 0.0680%
(/\_i/ 27
&t (35 N) 304.2129 99.5380 - 0.1359%
—. HfgolksesT
(—) FFEATREMRHADEZ LN EET
5 4 %
1 y Npjutich ANE e
2 X4 oo 558 T
3 AR ANE e
4 [R5 A AN R




5 FIAKZE AN e
6 AR AN e
7 5Kk fh AN e
8 % AN e
9 5 AN e
10 B AN e
11 M ANE =
12 T AN Z e
13 & ipea AN
14 Bz NS =R
15 K AN e
16 R AN e
17 B AN e
18 e %55 5T
19 B K IH AN
20 THEE AN e
21 5K 7 AN E =
22 RV 1 AN e
23 (515 AN e
24 JRE R %55 5T
25 X R AN e
26 5K 75 R AN e




27

W AT

ok 55 T

28

DNy

255 H T

(=) FFEMRRRE RS OIS FT

FFs w4 R%

1 Kot CANIZ R
2 X4 ANIE A
3 AR ANIE S
4 B i A ANIE A
5 FIARZE ANIE A=
6 A %45 T
7 5K A5 CANIZ N
8 AR ANIE e
9 5= AN & S
10 FH B ANIE A=
11 M AN s
12 e AN E =
13 B ANIE S
14 i Bz AN e
15 5K = AN S =
16 g ook ST
17 LiNTEe AN s




18 B K ANE =
19 THEE ook 551
20 KA AN e
21 2=V Z ST
22 B AN e
23 Ji g R %ok 555 T
24 X R ANE =
25 5K 75 2R ok 55T
26 SN Z 55T
27 BiNT:Y NS =R

URI OB 0 25 A A 7
# % %

“OZ=FHEHZ+=H




